@ Al ®1o] dojef H7} Zrt,

o) 2717} 2t

| ¥e] Zol7} 2t
@ Al zte] 2717} 2ok,

=3

©

7to] 2717} 2t

B

B N
o~
NN

o]
=]

N T
" ol N
o_amﬂE
U
™~ o of

5 o o

NUBNIRN]
N or or of
N OB B
ﬁﬂ%a
L T N

ol o To o




2. 47 ABC o4 /B ©] 2719} BG o] Zol7h Fold o, thg % o=
o] o Fol AW AzHgo] SAS 2710 o4 shpz AAEEs}?

@ AC 9 Ze] @)AB ol 2o

@ /A 9 37 @ /C 9 A7

® © Foi1|7] gotw Hrt,

(B | 27]9} BC 7} Folgeng /B 7} 71917ko] 57] 1514
AB 9] Zo]7} Fo] Ao} g,




3. o= "M A= FEol E
@ AAOD =

@ AADB =

® AABM =

@ AABE =

(©ONCE

A7

‘Fll‘

A
ABOC

C
A
#ADC &
A
ACDM Lj%gij
B
o

AACD [/ ﬁ

D
B
B C
D
C
_B
A~~-4---C
A D

BDO
A %

C B

® CO = OD, /AOC = /BOD 9] Ao = grZolaty I

% giet.

sk




AAOP £} ABOP |4

%0-[ | aP-5p

=3[ |Je¥selnm
AAOP = ABOP (] 3H%)

|t
=

o

>
> ®E . BO, OP, SSS &%

B

AAOP £} ABOP 9|4

AO =BO, AP = BP

T3 OPE 350l B2=
AAOP = ABOP (SSS &%)




ohe 2 o] FEel T ANl A 4 D
4 9lch. A17Hg OECF o] Wolzk 10em? | ™\ 7
o, “§AH2+E ABCD ©] WolE totefet.

[e%

> HE . 40cm?

(1) A
AOBE &} AOCF ©f| A
OB=0C---(1)

/BOE = 90° - /EOC = /COF---(2)
/OBE = £OCF---(3)

(2) A

(1),(2),(3) °ll &5t gt W o] Hole} F & Z4e] F7|7t gonz
AOBE = AOCF(ASA &%)

-.00ECF = AOBC

(3) A
OABCD= AOBC x 4= 0OECF x 4= 10 X 4 = 40( cm?)







otell Z™HA AABC &= Az olrt. ¥ BC 2o %41 91l 1 D
£ #3 AD S 3t Ho g 5= A2 ADE £ 19tk BC = 4em
.CD = 5cm 4 o, th& § &4 2 A7

“4em-C ~5em-”~

® BD =CE @ /AEC = /ADB
® /BAD = /CAE (@)sACD = sACE

® AABD = AACE

B ~

AB = AC (- A4Z4)

(BAD = /CAE

(- /BAD = /CAE = 60° + /DAC )
AD = AE (- A4Z43)

- AABD = AACE (SAS &%)

5ol tf-Zot= Ho| doje} Zhe] 37
OBD = CE

@/AEC = /ADB

® ABAD = ACAE

rlr
N
o
al
fr




o =aol gsteiet

o

o

o
o
o
)

&oltt.

kel

o7} Z& f, SSS

1

N

94

G

Al

=
=

SF




